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WEST BENGAL STATE UNIVERSITY
B.A. Honours 3rd Semester Examination, 2023-24

HISACORO6T-HISTORY (CC6)

RISE OF MODERN WEST-I

Time Allotted: 2 Hours Full Marks: 50

The figures in the margin indicate full marks. ENfEF TN FGZ TG el A0 91
Candidates should answer in their own words AT e G IR TG * NN N
and adhere to the word limit as practicable. Cex R
GROUP-A / fTet-%
Answer any fwo questions from the following 5x2=10
Each answer has to be written within 250 words approximately
fafeite @-@ie 47 avis Tea e
2if ST Ted 2 co *ITwra S A AT
1. What was the impact of the ‘Black Death’ on the European economy?
TR LN TR FRTY’-T T AR ATTiRE 9
2 Trace the development of map drawing in Europe in the later part of the
15™ Century.
] XO(FF 2RTS| S WA SrF T S S|
3. Why did the Reformation movement first occur in Germany?
RFIT SNWIE (@ AT e 9e6iRe 2
4. Write a short note on Petrarch.
(oA IR @ fo TR FEPe Biel e
5. Was Elizabeth’s Church Settlement an act of Compromise?

GfeTERITITRE 515 7 & @b Sirsigers Auire! f&e ¢

GROUP-B / [T@ia-4

Answer any fwo questions from the following 8x2 =16
Each answer has to be written within 400 words approximately

e - 17 evia Tea wie
eif$fs Tea 8oo *ITwa Wy A AgRT

6. How did the increasing production for market transform agriculture in the 16
Century Europe?

(AT *S(F BTN ATIER & B Jfar Froid Fi Fwirea aibies 2
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How did Humanism develop as a social ideology and a new vision of life?

AFRORIT PO 6 A v @3 Tge S RO 91t Srafes 2

What were the ‘Enclosures’ in England? In what way did they represent a new
kind of agriculture?

RIS ‘Rl e ¢ e oft i g wawa 3R afeffdg e 2

Discuss the features of Calvinism as a major branch of Protestantism.

(AT G0 3T =Nt AR Fieforanwd i g e sicwat s

Discuss the socio-economic effects of the dissolution of monasteries in England.
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GROUP-C / f@ets-9 2 S

¥
Answer any two questions from the following ~LOENTRE-™
Each answer has to be written within 600 words approximately

fFefeite @-ceiat 7o evia Teawis
eifefb Tex voo *Itard wryg A AFAT

Internal Contradiction or long distance trade — what according to you was
mainly responsible for the decline of feudalism in Western Europe?

ierede TR 7 @elEE ey — @i cotia see A Bewice AveerE
AR &) 2AYIes 7N &a 9

What does the term ‘Renaissance’ signify? Explain why the Renaissance first
took place in Italy.

‘AR Wwﬁﬁ?imﬁwmawmmﬁmﬁﬂ@wmn

What do you understand by Price Revolution? What was its impact on the 16"
Century European economy and society?

=7 Reir 900 N QIR 9 Ao Mo TR WIS ¢ AsE TR @3 §I Ao
feei 2

Make an assessment of the contribution of Martin Luther to the relative success
of the reformation in Germany.

@M

Why was the reign of Henry VII called “‘New Monarchy’? How new was this
‘New Monarchy’?
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12x2 =24




